IR
EmoARON
BB AR DR N

WAEWALZEZHADRER I EBAOARZFALTEHETLH I LD TE b

;

ARl (x+a)(x+d)=x*+ (a+b)x+ab

AR 2 (x+a)’=x*+2ax+d*
A3 (x—a)’=x*-2ax+d*
KN4 (x+ta)(x—a) =x*—ad?

- J

O (2x+5)(2x+3) @ (4x+2y)°

® (3x—6y)? @ (5x+4y) (bx—4y)

KROAETRLTHELZ IV,

@ 102x98 @ 94x104
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EmoARON
BB AR DR N

WAEWALZEZHADRERR I EAOARZFALTEHETH I LA TE b

;

ARl (x+a)(x+d)=x*+ (a+b)x+ab

AR 2 (x+a)’=x*+2ax+d*
A3 (x—a)’=x*-2ax+d*
KN4 (x+ta)(x—a) =x*—ad?

- J

O (2x+5)(2x+3) @ (4x+2y)°
= (2x)2+ (5+3) x2x+5x%x3 = (4x)*+ 2 X 2y X 4x + (2p)*
=4x*+16x+15 =16x"+ 16xy + 4y”
® (3x—6y)° @ (5x+4y) (5x—4y)
= (3x)* =2 X6y x 3x + (6y)° = (bx)?— (4y)?
= Ox®— 36xy + 36)° = 25x"— 16y°

KROAETRLTHELZ IV,

@ 102x98 @ 94x104
= (100 +2) (100 —2) = (100-6) (100 +4)
=100 2° =100*+ { (—6) +4 | x100+ (—6) x4
=10000 — 4 =10000 — 200 — 24
=9996 =9776
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